BEETLE Parts List

SC215 SC216B SC217B

(0

[ﬁ FH M2.6x6mm xdpcs

(&

x2pcs x2pcs

o

(©)

x2pcs

SC219BKB (Black)

Flange BH M3x10mm x4pcs

R-Pin 4mm x2pcs

SS M3x3mm x1pcs

BH M3x8mm x6pcs

SC221B

0
§C222-01 x2pcs

o T

x2pcs

SC222-03B SC222-04

@ xdpcs

X2pcs

SC223-01 x2pcs

SC223-02 x2pcs
©f 3
0O-Ring P3 Red x2pcs E-Ring 2mm x6pcs CAP M2.6x8mm x2pcs

(1 T X2pcs
x2pcs

< e
O s 0
(b) () © O x2pcs

I W

2o

©H o

CAP M2.6x8mm x2pcs

E5 Clip x1pcs Nut M4 x1pcs

(e—— ©8
BH M4.0x35mm x1pcs  Nylon Nut M4 x1pcs

FH M3x8mm x2pcs

8C222-02B x2pcs
o]l )
0O-Ring P3 Red x2pcs E-Ring 2mm x6pcs
SC215 Slipper Plate (2pcs/Scorpion 2014)
SC216B  Slipper Pad (2pcs/Scorpion 2014)
SC217B  Diff Gasket & Screw Set (Scorpion 2014)

SC219BKB  Radio Box Set (Black/Scorpion 2014)
SC221B Rear Roll Cage Set (Scorpion 2014)
SC222 Front Shock Set (Scorpion 2014)

Ay \=TFL—bQNAD—EA 2014)
Ay IN=1\y R QA/AD—EF> 2014)
TIHRTY My MRAO—-EF> 2014)
FIFRYIREYMNTZ9H/A0—EA 2014)
JO—)br—o4y b (RO—E4> 2014)
70 bavyey M(RO—-EF7 2014)

SC222-01
$C222-02B

Front Shock Shaft (2pcs/Scorpion 2014)

70V ay7Yv 7N QNAD—EAY 2014)

Front Shock Spring (2pcs/Scorpion 2014) 70>/by3y92 /)5 QNAI—EAY 2014)

SC222-03B  Shock Plastic Parts Set (Scorpion 2014)  >/3v97/Z1\—Y4 v (Ra—E#> 2014)
SC222-04  Shock Gasket 10mm (4pcs) 23V AR Y 10mm(@4A)

SC223 Rear Shock Set (Scorpion 2014) YY>ayity s (RO—E4> 2014)
SC223-01  Rear Shock Shaft (2pcs/Scorpion 2014) U3y o 347~ QA/AO—EA> 2014)
SC223-02  Rear Shock Spring (2pcs/Scorpion 2014) 1)/3w9 27147 QA/AD—EA> 2014)
SC225B  Spur Gear Set (Scorpion 2014) AN=Fvy M RI-EA> 2014)
SC226B  Servo Saver Set (Scorpion 2014) =R/ N\—ty N (RO—EF> 2014)
SC227B  Front Bumper (Scorpion 2014) 70V M\YN=(R3—EF> 2014)

33



BEETLE Parts List

SC228
Sy, o
= — ® x2pcs

any

© x2pcs
Ol o (©
@) x2pcs © x2pcs © x2pcs (c]
SC230B SC231B
* ’ I I
T
o o = a om
SS M3x3mm
gMS.ﬁmm x2pcs Ox2pes @ x2pcs  xdpes

—

x2pcs

X2pcs

| | x2pcs

SC239B

T

Pivot Ball 5.8xM2.6x11.5mm
x4pcs

Pivot Ball 5.8M3x12.5mm
x8pcs

SC243B

Linunnnni T
a]

amom—————qmm () x2pcs

Ball Nut 4.8xM2.6mm
x2pcs

amm——umm @ x2pcs

SC228 Diff.Inner Parts Set (Scorpion 2014) TIAVF=I\=Uyh(RO—E4 2014)
SC229 Gear Set (Scorpion 2014) FrybRa—-EA2014)

SC230B  Pinion Gear Set (Scorpion 2014) EZAVF vy (RO-EF 2014)
SC231B  Rear Sus Post set (Scorpion 2014) DY HRRA My b (RO—EF> 2014)
SC232 Swing Shaft (2pcs/Scorpion 2014) RAVT v TN QANAT—EF 2014)
SC233 Rear Wheel Axle (2pcs/Scorpion 2014) UV RA—)L 7RIV QA/AI—KEF> 2014)
SC234 Drive Washer Set (2pcs/Scorpion 2014)  R5A 77y —ty b QA/ZD—EF> 2014)
SC235 Gear Shaft Set (Scorpion 2014) Frov Ty (RO-EF 2014)
SC236B  Up Right King pin (2pcs/Scorpion 2014) 7Y 754 k276 QAAI—EHY 2014)
SC237B  Front Sus Joint (Scorpion 2014) 7OV MRYIA VN RT-EF 2014)
SC238C  Dust boot (2pcs/Scorpion 2014) AZANT =Y QNAI—EA2014)
SC239B  Front Arm Shaft (Scorpion 2014) IOV =LY% 7 MAI-EFY 2014)
SC240 5.8mmxM2.6 Pivot Ball (8pcs/Scorpion 2014) 58mmiM26E Ry hR—)L BA/ZI—E A 2014)
SC241 5.8mmxM3 Pivot Ball (4pcs/Scorpion 2014) - 58mmxM3ERy bR—JL GA/AT—EAY 2014)
SC242B  4.8mmxM2.6 Ball Nut (2pcs/Scorpion 2014)  48mmxM268—)bF  QA/ZI—E7> 2014)
SC243B  Tie-Rod Set (Scorpion 2014) 240y Fy M(Xa—EF> 2014)

34

SC244B

SC245B

© [uum

CAP M2.6x8mm x2pcs

(©)

FH M3x12mm x2pcs

(©)((mm—

BH M3x15mm x2pcs
d
nll’ a) M3 Nylon Nut x2pcs

©) (mmmmmmmmm © Q) H

Button Screw Hex M4x40mm x1pcs M4 Nut x2pcs

SCB002B

SCB003B

SCTO001HB (Hard) SCTO00

MB (Medium)

® x2pcs

—

® x2pcs

© x2pcs

SC244B  BEETLE 2014 Body Mount Set E—MV 2014 RTAITV MY b
SC2458  Roll Bar (BEETLE 2014) O—)bI\—(E=b2014)

SCB002B  Clear Body Set (BEETLE 2014) JUTRTAty N (E—ML2014)
SCBO03B  Driver Set (BEETLE 2014) RSAN—t vk (E—MDL2014)
SCHO03Y  Front Wheel (Yellow/2pcs/BEETLE 2014) 700 MiA—Jb (1 TA—2A/E—Fb 2014)
SCHO004Y  Rear Wheel (Yellow/2pcs/BEETLE 2014) 1) 7RA—)b (A TO—/2A/E—1L 2014)

SCT001HB  Front Tire (Hard/2pcs/Scorpion 2014) 70V MAY (N\=FRNAT—EF 2014)
SCT002MB  Rear Tire (Medium/2pcshwith Inner/Scorpion 2014) 4244 (374 7LN2NA Y/ F~fH/A3-E7 2014)
LA43B 5.8mm Ball End (12pcs) A=V K580 (120)

UM612 Diff Shaft (2pcs/ULTIMA SC) 77747 b QAJULTIMA SC)



